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dfrq. qtqar.rfrHr
MENTAL ABILITY TEST

F( sq-l-* i[ 3n so ]rr{ tr u-*+- srt v{' eiu m.r tr
THERE ARE 50 QUESTIONS IN THIS pApER.

EACH QUESTION CARRTES ONE MARK.

YY;I ( 1 -4f / Questtons ( 1 -4 |

frfu : cs.{ r t + a-+ trd-6 it qs 3Tqfi-ffi sl w} t, ffii r'+ Tq ER t ta-a xra ges.

foa f Z I t wfqT'rqr tr qr.r< rs ffi + +i H,T'q qrr trqi€qi rt t r'* tr sfi E-+-e rn
+ifoq r

Dlrectlon : In each of the questions I to 4 a letter series is given with one term
missing shown by question mark ( ? ). This term is one of four alternatives given under
it. Find the right alternative.
l. c,'K: ols, ?

\(1)

2. -Di
(r)

3. H)fra;vlx, u.

w
: I'l,\, ,\o ,8.

8l RK

(21 w
PC, ? , CTA.

{21 BSEo{.

(3) QJ

(3) v

(3) r

(3) s0

(3) 37

(4) x.

(4) RJ

(41 v
4 LE, ND,

_|zf ERB (4t EC&
sFr ( 5-8 | / Questions | 5-8 |

f'rtu : yw s t a irsr !+6 il \'s lq@r-dufr * 'rs t, ffii r'* tr( Sq t fire w< q++
lqg f il t wttqT,rqr tr qr q( ss M + +n f<q,Tq q{ ffif { t \'*' tr rfr f+ow ln
+1fuqr

Direction : In each of the questions 5 to 8 a number series is given with one term
missing shown by question mark ( ? ). This term is one of the four altematives given

i*"iT al H'T :'ilil,'bB.,*

(1) D

(1) 36{
r.)s)2,6 B??

e)-4s
J, ? , ;-3tvs7.

(3) 6a<r (4) 8l(
6

12) 2e (4) s2

26 l4l 27.

7 lt
(r 25

9

(1) 34

(21 23
9, 17.

(21 3e

lP.r.o

8.
1?k*;lrse

4xt+jt6
,,,,H^'S

43.
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MAT-I

(t)

(2)

(3)

(4)

(4)
++ ka T4 q{-{ d d mql gir ts-{'+ si M,r Hcn ,, tr kd,r4 sr+ +i eTrq,$] sdrqr+rl t, 'r-d fr d {-+drd dqt t fir* c-#d r}i tr s.,+ frqqi si r:166_6 q6__s{ o.6 il.rs1fus fu *h-w Hq* l.u ,r+ sq=ii mr a-S r*q-d * + o5**I*';;;
Hrrn{kr: mo nsq} t firt r}r
i6zFr: (i) , q$fu, 

Efu.qrrtt
(iil ' t-s cffi, frftn tlM' (r) : slfrfriftraqtert, Ekentr
(lt) , srfr gk+n, e6,6q 6,

#+ofrq{.1vst
+df, M lr s-fl t
++Ml eilruveil
qd)fi.s,+l efuqdMrrq.etr

In the given question there are two statements and they have two conclusionsr and rr' you have to take the trr." ",.i"*""i" i o" ,-. even if they seem tovary to commonly known facts. Read the 
""rr"ir"io.r" and decide which of thegiven conclusions logicarly follows frorn ;;"*. given statements even

Starements : (i) : All v/omen are intelligent.
(it : Some worDen are educated.

Conclusions : (I) : All educated *o-"., u." l.r*Urr".r,.(II) : All inteUigent .."'*o-..r.(t) Only conclusion I is true
6ry1 Onty conclusion II is true
(3) Both conclusions I and II are true(4) Neither conciusion I nor conclusion II is true.
k4 T4 c{-{ d *s.ffirr + q} il# r errr u fr4 rri tr snq*r aq +r* t r* r+t ri e+{-{r
a-S'q-{f,' srq-qr '!m.q*t, tl
.E?Fr I Hct?r \?j qrtrs. {.ei6T wnd si fuureq mt q{ dqs_{{r qBgt
a-* : 0) if, q5 qrtrfi + H-efrftoT k*ls ii vaq* tr

(rI) Tfi, qr q*a.rq-si q{ srftrfi rTR groTrn 
r

(l) mh t s r si+ eurf, t (2) mh I q lr +{i 6q-qt{ t
(3) mh r q-qa tqa.h rr srq-qlrt $) r* r mrqtr teffi*, rr !_ffitr

lo.

NTSE(r)/ l8 - MAT_6lo_A



( s ) MAT-I

In the given question, a statement is followed by two arguments I and II. you
have to decide which of the following arguments is ,strong, or ,weak,.

Statement : Continuous and comprehensive eva.luation system should be
implemented at school level.

Arguments : (1) Yes, it helps in all-round development of the child.

,Lr

12.

(2t

(3)

(4t

g/

kd ,ri cla il \'fi sin q 3FFr q'5 s.nur kd .ri tr B-{+ fdq R-d fodr-fl 6.r T{rq
+1fucr

i6!rt : T+qr rfrqeqq +1 sft qrfrtr
.f,'r{q : af(I T* d,r-d 

"t 
*d t qrm finril tr

(1) *.tt;I o+t +,n"r slri ss t pl qrsm €Fr t dH-+ mnq srss t
(3) qieH eRrfl t etfu-q s-rq {s t $ s,tr{ 3ft s-RUr dii 3rss tt
In the question given below, a statement is followed by a reason. choose correct
option for them.

Statement : Narmada river flows to west.
Reason : Narmada river falls in the Bay of Bengal.

-pf Statement and reason both are true
(21 Statement is true but reason is false
(3) Statement is false but reason is true
(41 Statement and reason both are false.

frq { t +tt-rr *+ ento cs, 6R q qrrr +i sfi sq { e-fird *..{dr t ?

Which of the
Vehicle ?

(r)

following Venn diagrams correctly represents Bus, Car and

(2)

(4)

NTSE(r)/18 - MAr-6ro_A lP.r.o.

(II) No, it puts more burden on teachers.
Arguments I and II both are strong
Arguments I and II both are weak
Argument I is strong and II is weak
Argument I is weak and II is strong.

11.

oo



(2)

14)

sY;I ( 14 - rS l/ euestiors ( 14 _ tS I

fr+,rn +{ ortq d soo Er=it ii t q\fus frflr, rsr." fu{H 3rh,rfrH Eqz;i *1 Hq drqil
crq dri) s1 tqr ncfrm tr Aq qtic + 3flrrR cr sl-t t4 g+{ rs 6.r rt-t {iqerout of 5oo students, the following venn diagram represents the number of studentswho got Distinction in physics, chemistry and Maths subjects. Answer e. 14 {ind
Q. 15 based on Venn diagram.

rmq+F*tn
Chemistry

)dfr*, fTfrr+

)-
lm

Physlcs

'IftIfl
Maths

x
6
t

MAT-I (6 )

13. H'q d t ot<-nr ++ 3TriE €+E {'r, sqg q c*fus Fd si sfr sq it s-ffiH q-rar t u
which of the fo,owing Venn diagrams correctry represents white colour, clotrresand natural flowers ?

CCO

t{

(s)

14. q}fr+- F€rr sfu ,rfurd dii ftszit { ffiq qt'qdT crq il=it st *icqr ffi drft, qs glsri
rsrr{ fufla fuvq ii friq drcror qrEa d + *66o rfi Hqr qrd I
How many students got Distinction in both physics and Maths subjects, when
the students who got Distinction in Chemist zsubject is not included ?(1) 26 l2l ls 5{ za (4) 24.

ts. dil Aq.ii d Hq qiq-dT crq drflt s1 cFdymdr wr rld z

what is the percentage of students who got Distinction in all the three subjects ?
( 1) 28o/o (21 35o/o (3) 38%o (4) 4}o/o.

s{;T (16-17 ll euestionslt6-L7 l
F<tvr : vw 16 s 1z il +{ ks-fl ffi qE t sq' t, qr{ cfi fus-fl r{+ sroq tr sidrr

fus-dq yr ml vfr rur fufuqr
Directlon : In questions 16 and 17 thiee alternatives are alike in a certain way but
the rest one is different. Find out the odd one and write correct answer.
16. (l) sTtFrnfrffiH / Afghanistan J2f ir,r{f, / Kabul

(3) d+ / spain {4) $FF. 7 1.un.

NTSE(I)/ l8 - MAT_610_A



MAT.l17l

t7. *14" l l2l
(4)

729 =19
54.- r o144 =1 tt ce p* R- o 6I flI 3{t

18. + B'ql slei A, Bqlge trn- B'61 3{ei A, B 61 cfr

d'n z

? + B' means A is the son of B' 'A - B' means A is the wife of B' Then what does

19.

P+ R- Qmean ?

(l) Q, P 6r lrrdr t / Q i" the father of P

121 Q, PffiIft / Qi"the sonofP

(3) & Q6Ifuart I Pisthefatherof Q

(4) & Qs,rY{t / nisthe sonof Q'

\rfi rtrd +q + sgt *{ P, O & s3{t{ r+c + At< +1 3+{ 56 sr+ it tr r''t d-

<rfi st{t, alk s*qsT dr tfst snq{ tr 4 Ps s++ditTfitr n*erql *t

(3)

,A

1xt en qr *tl ti ? 
^^_+?a t^ rhe tahle R i

P, Q, R, S and T are sitting around a circular- table. facing centre to the table' R is

just the right to P and is 
"""ot'd 

to the left of S' I is not between P and S Who is

second to the left of R ?

(r) a l2l r(

(3) r (4) P'

CR '.' tFI 3{d '-', ''' tFi eq{ '+', '=' Sf 3{'?1 
"t' 

eftr '$' s'I qd 't' A' d

27 > 8r$ e < 66lcHHrdrn' ?SLtst$ 1-:3-6 'Z+t g-6

If ,<,means .-,, ,>,means ,+,, '='means 'x'and $'means '+', then what will be the

d-v
5

36

vaJueof 2T > 81 $9<6?
i;- ; Qt 36 .91:o^ (4) s4'

o* *t =o 
o{frrr-3ltrrl ftqffi +i * Td tio + ffid 565 rR qfi-S t'sr t ?

The four different positions of the dice are given below' Which number is on the21.

face opposite to 6 ?

22.

3r
.\, x\x

S5xlu l2l l3l l4l
pr't Ql 2 {3\ 3
-q" 

e t* TqT ild ais E{ ft1 c"t e-d6'i'frq tr st z tdt y
t*qr qnr t, -t t ffi q+ t{ t fifr-{61 s"t s'il6 t'frcti I
Al1 faces of a solid cube of edge 8 cm are coloured' It is

cubes of edge 2 cm. How many cubes will have all faces co

(i) 1 .t2l o -y'

(4) 4.

ed scri's;it it frqlfufr

divided equallY in the

loured ?

(4) 4.

E:NTSE(I)/18 - MAT-61O-A
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MAT-I

qk fo{+ T-c .nsT ii .

fuer qr+n

In a coded language
code language ,fAS,

tl) 'tHZ

4

frqfufua s+ qfu mq { qqRra +1&.q :

A- {{Iii 3- faq1-aq.-gar c- fufr,m+ D

Arrange the following in a meaningful sequence :

A- Medicine B- Diagnosis C- Doctor D

(8)

, .FI 'fuor qrdr t, di Brfr n;a qrqr ii .ces,oi

the word 'SOLID,is written as .HLORW,, then in the same
will be written as

(21 rYr (3) TzH $) zHT.

12) s (3) 6 (4) 7

so{' x

Its

qk frr* T-c qttr il r = s qd GrRL = 46 d, d soy = a

If in a certain code I = 9 and GIRL = +0, tf,"rrEtd$r={f
(r) 37 el 3e (3) 24 11.,1-+2.
qR tq-{r, rfrro * g, * gx +t {frr t, di tc-{r sT stfi t €r *ili ,
If Ranjana is the sister of the. son of soha,'s son, how is Ranjana related toSohan ?

(1) 5*TOaugtrter pl e-fra7siste.

Pf *i/Granddaughter $l ?ltlT/Uncte.

qfr em kvn s) rd aqr <ieT"r R{n + qFqq q-tr qr}, dr ro.-rd Rvn s} *fl s-6r
qr&n :
If North direction is caned East and south direction is ca]Ied west, then what w I
be called North-East direction ? .,

(1) 3rR-{d/North-East (21 1d-derurTeast-South

(3) qFqq-qfleTurlw.st-South 
3y'-* oe*/North-West.

++ k4 TA u-gxr ;f sqna 3isi + fuai g'q t+ Eti, fu+or :riar z ei Z

How ma,,y pairs of successive numbers have a difference of 2 in the following
sequence ?

6--!' t,2,2,8,7, 4,2,7,5.3.8J_' 2, 1,7, o,4, 1,3,2, g,s

€ )<

rv

26.

a7

28

o.

ECl{ E- TArgrdnl

Fever

@ dgi^"rt ''' l^"r"l} @
8 - MAT-610-A ,(

DCBAE
E - Recovery

(4l,, cDBAE.
"\Drpfr rNrsE(r)/ I r,}AR
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2s. kq',rq ffii it ri gK {roqT ( ? ) oi ro s1frq, q-qis +it 3{Efrsi d {qr+ fuqq

drlrzll rrqr E'i I

Find the missing number ( ? ) from the given alternatives, when same rule is
applied in all three situations.

5

t6 109 ,

6

2L

22 53 19

ls

51

t7 ? 48

13 6&
(21 2s (3) 4e (4) 12e.

30, k€ !q6T( q-s 'GIrs'3R-+'Y"i'i ffiftfd t, 3di Irq'n qs '"Iq'frq ii t i6s t iidftrd

6ITIT ?

As 'part'is related to thole', in the same way an 'Arc'is related to which of the
following ?

(l) 3[.td/ Rectangle (ZL,/Ifl /Circle
(3) BryTuangte 6 a'lTsquare.

Yf;T 131 -34 ll Questions | 31 -34 I

F{tw : cra 31 t 34 il+, il fqit * s} sT6 t, fiiqt q-s c-{6 o} srsl-6, e $i si 3r{-fud

+.6d tr {q€r-fue qo mq tt qo * sK cfi ra 6< tr' onr+} Tifi-foi} tt t c-+. t$ iq* mr

T{rq 6c{r t, q} qmqr-fu-ii;t mqqwR 3{Tt w.sr eT {+r sfr stri-fue +i 1fr4t
Direction : In questions 31 to 34 there are two sets of figures. one set contains

problem-ligures while the other has answer-figures. There is a sequence according to

which the problem-figures are arranged. You have to select an answer-frgure which

can be added in sequence with the problem-figures. Choose the correct frgure'

31. €qgr-fidf / Problem-figures rf,{-fi{d / Answer-figures

32

s
(at lBl (cl lDl

€q-gr fi]-l / Problem-figures

\A V\ \^

l4l
Tf{-fu-d / Answer-figures

AVA v\ ^# V\
(u tzt" N (4t

Tifi-fuI / Answer-figures

l3l l4l
x * x d(
lAl lBl (cl (Dl

NTSE(I)/ 18 - MAT-t'lO-A

LL

x )? * *

_n--t7

(l) 7

* s A
(lt l2l

vf
tAl (Bl (c| (Dl

33. g{gr-fuT / i'roblem-figure s

A

lP.r.o.



MAT.l

34

(10)

HEfgl-fu" / Problem-figures Str{-fod / Answer_figures
o
A

tr

A I tr
Atr

A

AO AO(At (Bl (cl (Dl

9sT (35 -38 l/ euestions (35 - g8 I

(U gf (st t4t

fr*sr : c{n 3s { 38 it rd6 { qr{ fud k+ rri tr s+i t r'+ fu* erq foii t t-e rfi smr tr
sg iq-e iq-, fl gHt
Dlrection : In questions 3s to 38 there are four figures given in each. one of these
does not correlate with the rest of the figures. Select that odd figure.

35.

tll l2l (31

36.

(lt l2t l4t

37.

JEt- Pl (3t t4t

K X x
(u t2t (3t .t4'

9YiT (39 -40l I Questions { 99 - 40 |

Frfu : c{-{ se aen 40 d fr rri 3rT-{h sT s& s{uT cfrkq am dfqq, qE E{"r s} Tt sTrffu +
sr,ii srh 6ir

Dlrectlon : In questions 39 and zl(), find the correct mirror image of the given figure,
when mirror is placed on right side of the figure.
39. sToP

(r) eroq lrY s.orz (3) qroa (4) Pors
40. Cf{ 3IFfu / Question-image TflT oTEfA / Answer-image

38.

(J t
tr A

t A
o tr

+ tr
v o

t o
A C

C J S U

B tr
A v tr

f7 o
+ tr

NTSE(r)/ I8 .- MAT_610-A

(u t2l (3t J*f

\lt



(ll ) MAT-I

cf{ ( 41 - 42 l l Questioas l4t - 42 1

frfu : qfi 4L q 42 { * d 3TEfd +r sfr qa cfr.kq f,rd s1frq r

Direction : In questions 4l and 42 select the correct water irnage of the given tigure.

41. cY-{ 3fl?fr / Question-frgure

3f,{- 3Tffffi / An swer-figures

.pr (3)

42. gY{-3Trfld / Question-figure

x7w4

snT- sr.f frqi / An swer- Iigures

,$f xtMtl pl x7M4 (3) x\w'f (41 xzr,,tr

nV;r ( 43 - 44 l l Questlons ,l43 - 441 
,

fatw : g+ E rt-+'r qR-d d-a;t C'*, H frcr rrqT t, H k{ tqr + 361k{r dEr qra, d T{ffi
crw 6I+ srd sTrTfr Tfi-oTr9ld;i t +tr-fr fr.ft U

Directlon : A square transparent sheet with a pattem is folded along the dotted line.
which of the following answer figures is formed after folding the transparent sheet ?

43. qrfC{fr.f, / Transparent sheet B-tr{-fod / Answer-Iigures

i

44. qfCqVff q* / Transparent sheet

t2t _w
Ef,{-fud / Answer-figures

(1t l4l

43( l )

E

\
/

\
d

NTSE(r)/ 18 - MAT-610-A

(r) J4

lP.r.o

(l) (4)

)



qf{ ( 45 -46) / euestions (45_46 
1

ffi.ffi#*H,* o*t fr q{ tr Bs$ qn-d {entsn si; qn 3ir 3il-rfr.s

Ditection ; In the following^figu^res 
_there 

is a question ligure, which is embedded inone ofthe answer_figures. ,r race out the correct figure.

MAT-1

45. rW- Affi / euestion_Iigure Sf,T- 3TIFfrd / Answer_figures

ZTN
5Z

(12)

(3) 343

(r) t2l

Tft{- 3T[fffi / Answer-figures

@
(1) l2t (3t

47. eh-sr rrr-flq-r kA r+ qEw-fu, si {,t 6i,r 2

Which of the answer_ligures completes the given matrix figure ?

Ml

Je{

lr (2) (3) (4)
4a qR zo * 3 = l8o srk +. s = too d, d z *z m.rcHRlt d,rt ?

rf 20.3 = r8o and 4 * 5 = 1oo, then what is the value otz * z ?rs(}
-- {ox)--- l8o (r) 2t

?^t+
=91)t9

(2) 4e

>=

=<

x ffrN m

II IJ IJ
l.-* J J

<_

il Jl il
it iJ l,t t1

u*5:'ro\\
NTSE(r) /18 - MAT_610_A

{q
aq-

(4) 7

46. Cp-{- srT-ffu / euestion_figure

A

ffi

e



(13)

4s. ++ fr d qT7-ld d e,f s1 {@r {fl€s :

Determine the number of squares in the following Iigure :

/

/

/

w

MAT.I

? )tlx'\+ I 
^)qi tLt *-l

t*.fx3*-t8f,,()
6f6

Il-\ t3 x lt{t,

:\Y,--.:

(1 14 (21 e (3) lo

5x5
I

(41 16.

50 kA .rA ft" d srdd qr rd qit eft {iqr qar{s :

How many cubes are laid on a plane as shown in the following figure ?

(l) t4 (21 t2 (9Y 1o (41 8

Nrsrr(r)/ 18 - MAr-610-A lP.r.o.
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T

t
.E
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+t
f
F

E

1
,1
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LANGUAGE CO}TPREIIEIYSIOII TEST qTqT qIT{dT TftTT
(For Students of ChssX) ( 6Enx+ffi*frq )Time:45 Minutes Ma1 fdarks:S0 gqq ; a5 fo44 Wfm, SO(Forulind candidatbs Time:l Hour) iSEd, errqfuqi S fus {qq. rda )

INSTRUSTIOITS TO CAf,DIDATE8 trffi + frSfiTYr
l$1"$:"I1"il:t.:::,til".*il.,:-"*' nrt 5tu6r *r+ * Erd t{q fli*n} ai en *
l. This test contains 50 Questions in English GSt

Language and 50 euestions in Hindi l. {q CF.rf, ii So Cy4 iliis ,{r$ * *t SO Cg1

l*?-:i'; il::T'#ffi[:T;':ili:,T 
' il* ry + t.i@ s ,i- in# *

English or ir Hlndi. qNI t5,1 i6FTI E zII dl EIrffi qI tiRlt I

2. Mark the language of test opted by you very 2. T+ Tt qlq, 6j {Tsqr+ t rti-q-f+ (si" SC"
ctearly on the answer sheet (OMR) as per 3fRo) C{ ftA .fq frfuq€.K ft{d r
instructions siyen on ,n. r"s:-er 

^rn::,]-_.- 3 iiR (16 rdrr fi{_q=# 1oi" 1u, qRo yfta)3. Answers are to be given on a lGpalatc * f_l +.
an:scr rhcct (ouR:hcct|. ' q qi 6l

4. Please write your Roll f,unbcr as allotted to 4. FtF[ 3IF[ id iqr iel ts qrq+ -rfu c, c{
you in the admission card very clearlv on k{I ,IqT t, HiyrEflI{ }E qfu6l rrt qrfl Ftqthc' t6t-boouct and darkcn ' the hi€-q sk 3fivm [{-ki Ti ,tdl +iappropriate circles on the arrsrr rhcct as q;fdf q;.t 

Iper instructions givcn.
s. please fo,ow the instructions given on the s flI{fl{ frF(I tF.C + tq fiR-qrs c{ ki Ti

answer sheet ror mart<ing ure lnl;;;.. " "'" Rvt a *ary g gq-g ol r++i erivrr+ dfrq r

6, lf you do not know the answer to any 6. qk 3{c ffi cfr 6't Ttr{ i-61 cIiA t ni w c{
question, do not waste time on.it and pass {f,d Try.I q Tidr{a $k sfl-d Wf S{ {6 qf{d I' on to the next one. Time permitting, you can qfr eTE t Tqq m Ai fi4tr C{_+ q;) g{fCi Ct_d

;"ffi f:-r::,*,*:""t:ff,.Lllll,rl;*:". eils filr qr oa c{ arcs .{ror e$ t-t.r flto r

7. since the ume a,oued r". ;i; ;;;;,i"" 7 gq^xr{ q-{ + ftrC f+rift-a qcq dgd dfrfr t,
paper is very timited, you should make rhe q€fdq E{rsT ltftf+-dc [fi+r +1ki op 66
best use of it by not spending too much time f{{ C{ {ild gCq i ETfd-l
on any one quesrion. 8. lu 6,t{ 

-Ck{,r 
+ .,id ii ftq ,rq flro yg} c{' ;i"l'Jrt::;fl#o1:l'";",#i"'"'ff"1 tu* ; i# t m-< or-Hr#n'il

' but not on the answer sheet/loose paper, Ct-Tdl I 
-9. Every correct answer wlt Le awaraea one 9. c-+s' {-fi BiR sI qs- si-6 rffi t{-cr cRrrf I W{

mark. There will be no negative marking. aune-O $-s-C fEl ElIf fl0 Pl.as€ returD th. Aarrrcr rh.ct (ouR) ro. Ecq1 cftm t s1q *Td girr-q*r /s}o uso

,,"ffiYHT iilHH"ffilT,B':, ". dBffiRm ;*,YOUR WORI(.
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qNr qlr{f,r r{rqil

fEqq : m
w c{-{-wt { ga so xv-+ X 1 s$+ vrq r siEF oT t r

rrl {qr r - s* lag fttn , # tcq.rs,rililT 6i q-d6{ q-{t {fi k+-e mr qfi +ifqqr

slks 6Ht erqr qrq} o} qo sr Err+i c..Irfl{d 6{-dr t r rqtd kqR Hkfl
* sq { {frqn d rqnr +{-.{ fi-e t r sri6s fr ffil +1W vrim fri *q€T o.r

s* orffi{sft c+ kr t r uriw rqrt kr + ,{ri} 6i ffid rqot rqrt qfu-cs fri

ftn rwr t r q*qra r{rffi{ { q qffit ${r Sr d q{ ii olrdt sdr.r gt t, qo

qfirstfl { frt{ft HlrdT sr.fr u.d t r Hl6fl ERr wm i + qMq tn t, Er

im.rn Er{r fuq Eq 
qfiTd{ t s6i *xd ihr t r ofloil Eqt 66q {E-*ft kqr, Eqrfr

rsdr ifi e[rfli, 6qrr i{tElqR re fiisf,'uft-e s vrinm a rt i r

r. flftil6{1o.{r6R cqtfrdq,rart z

1ry 1frrnt*r Qt qqoqrqlqiquors

(sl rlf6d+{Iqt,,{+ (4) frtvftsrknt r

2. wftH5qp t{r+ qqi+dkorscF.{ffi fisr rwrt ?

(l) i{I6} t2t qdsl

(3) qrflt si (4) rqrt qim-e +i t

3. Tdffi qrilq{'{ + qfrcda Eqr slrr + qd it s{-fl sflit gt, oo f+ror q-d t t
(l) ersrqrt{+.dr6r l2l ffi*.r
1sy latvfrstkflEr (4) lvrerqnw t

4. 'flvrErqr ws$rvfrsfuffi(t
(l) ftte + eflrqn l2l frrsl + sR

By fvrer+oran (4) frt*tt+sr I

s. slkfl ERrqqq{+qfuft rhrt, mttrt
(l) snqd t2t yT
tgt qfrcm (4) srfr r

IP.r.o.

I

NTSE(r)/ 18 - LCT-611-B
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9

(4)

cY1 {qr 6 - 10 + ft{q P{fu : +i frq .rs {si{r +i wc-+'t vqi vfr fu*-e or qfi alfqq r

T6 yqTrr$nd fr tfi *{ q{ 6r qF q-*rc } 1 $fr W ftfu c( {q ffi r+c +fl{

fuqrqIdItresEq'I{ct{E6Tkqhqaqrla-orrartrgsqqtqrsiq]Td{

{E+cfrq1q+6d-q3+(3IftIsRt6Is{q+drtrdqtyd*gprqr.neilr

5i + {Ee{ 6i d|6R s-rar t, ss fi T4 + qrffitit ,{r'I cri il qfrr6R t r qrar

efter-gTtrftt-qlqrq576rErqltis6+-qtl65\rsftsR'q*rdtrHPl&
frc $ Er qrcr * vfr nc, 5r * 3r$q-dq 4l qfud orcr t r fr q4 qqrfi fr ttu

3{T{ {Er*r *'e+ sr6-dl t Td e{ci q-d-dii + sid crd *4r t{r qrftg r qnr eci sq

gri6i{qq'Ilqtqrffi}11$r*ndqtes+qrdvsifiE{FRtrr+ts-q
st{ +q or qq16l t r

Th ft.w or E6 
q*rt I

(1) IHqrq
(3) rgrTls

f* c{ qvi qrd sq q-q etrfl t, s+i or qrq 161t r

g

6

(1) a-q ft {q 6r

(3) {q{ur *.r

ro. 'er{rr'I'vruq q,r ffiq ed t
(u qfu

(3) d-er

l2l qulFItilEI

(4) {rNrq I

(21 {EIFI-f,i 6.l

(4) 3lftr6Ttiw r

l2l oTr&rr

(4) ktrq t

NTSE0 / 18 - LCT-61 l-B

z. grwerrnkoo-dq+trt ?

(u crdl*ufr ergtrn qtqr r+re l2l qmr*cfr er{-qs

(3) crfl * vfr stqr qn (4) qrar * cfr firflfl crd r

8. d q-{ qrflfq * qFI €rr{r sq*r *g+ qrrar t st *eH t{ sll6q

(r) qqiqfrrrni*nfr Ql o-+A+qm

(3) e${+!fr (4) E'd{fr*cfr t
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(s)

crt riqr I I - I s + ftq fiTfu : fi tqq rrq r{tvt qi q-rot u-qC rfi k+-w +r qrrq qifrq 
r

$ii ,-fiR +t flvn{r ohr qqw' qr skc rie Fniur fr d r trt cftcruil 6r
orfrq Eq q{q Hr fu+rs +-rqr fr t r iws chqr t qw a1 rervrifi or c-+r6 *r
q-sm TiqfiTf, +s{ s-tr{d' qq E+, :fr mr qrq t flvrtlr r orq 6crt t{r fti Bs +q
+1 sTrq[.rsil t, qr t E]6 si qiqqftTqi $il{ s)-dq + vrg-ffi c".s tanris d
qfr + IH nql st{ r{Fit s} 'ls H* ort{ lqs sqrq t $ d e{r+ shq 61 qfr fii
it {qpt Ei, fu{ qTi s{+ fus {Tr-dd il fr *it a vnr g-rmqTq 6r fr srr+ +it
q 6rtr d 1 6q'q1q'eqridriaT q{ fi qte } I 5q'q1q'ctri em k<t< fr
qtd t r 6q (+{, {$ sHt;i qq q-+ri qrd frEnr fi qri t r

r r. r*t n*n +1 frRir orh qqw sr Jhc d-{r qrirq

(r) Vfr + fs duti 6i dq et r6ei 6i tflr
(3) Tq 6I firFt (4) qq ffi1 1

rz. fqs cl*cl q ri"r +1{€rvrffi 6r nqr6 *r rorvr riqfra +* qil(l{ ffi s} sr+r
arq t
(r) frRir pl {rirfl
tsl firfia t+t skcqlfffi r

13. '5ffiq'VrC it e-iqq t
(1) tc @ or{c

(3) ot-ftc (4) qftq 
I

14. 6q qh sr q4 qrri t z

(t) o{Hh{ror el rtq-sr

(3) {qfrffiI 1+1 r1qffiq61 I

rs. dt s1qffiffi str slmr + +aq gt+flq nqus {€rflfu +i srq{qs-dr ffi t I
(r) qe+t (2) tvrfti
(9) *r{ si (4) ivrar +l r

16. 'q, T, d, d'sarq plrr fi 3TITIR q{ q,'ffirti

(1) uq aiw pl afuq aiqq

(3) er+saiq-r (4) {goa4q I
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17. lcd ttq"il #r fi@T t
(1)

(6)

12) l1
(3) (4) 2t.

i6. fipafufua iit as,re v.< rfi t
(1) fuqE e)

(3) S-s"3Tr $t

re fiqfufuo d { qTld qrqo {rn sr s(r6{ur t

IM
rqlF[ 

I

(1) eqc.{ pl qTrd-d{

(3) {d-r (4) {m r

20. {ar+ ']st
(r) 2(d) @ o(o:)

(3) + (q{) (4) s (ilr) r

21. ftffifu6 ji t'yhs qaq' ffi6 sreq q1q-v t r

(r) 3lttt @ EFr!

(s) ttt t (4) sr6 I I

22. frqffiq q s'sqq qr-q$ mhrq il sqr6{ui +n-rn t z

(1) slt @ c6

(3) kffsr (4) 6c I

23. rlm il grrar, {fus-dT w g+oim dc t q'rr+ + ft( rtw *. +qn w f+s $c sr
ydl.rfuqTqrf,Tt I
(1) ffiqq g drTq
(3) 3r-.qq (4) flm.qr I

z+. fq-s fuqT sT s-m s-di d ds-*..r od K S, +r *-rar* t
(r) Rs{-s t*qr 1zy mma h-+
(3) ms t*.qT (4) errfo l*.qr r

2s. 'T6 *fft-dtq-e-m t' qts il tsifufr w t
(t) Hqq @ {f,T

(3) sihmt (4) q+{q. 
l

44

24
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26. '.FB'qr dfuT rTE t
(t) 6iddT 12) .tlfu*T

(3) s-diq'* $ q,ar 
r

27. fitqffin t t sd-sT{s fi sffc{q fi-qr qrfl } :
(t) tr{d t srd 3i6 ffi t A ffi Td fuE-dr i
(3) rnn i 3{tar< fuqT (4) tE w fufrur *-& t r

28. +{ t erfl itqilqqq e-fr ugo gor t I
(U ,nqtqrs orfr t A ,[c sTq ET* t
(3) ,rqtETs uffi t (4) rrFI qFI ur* t r

zs. h-qr * lqs sq t qa ma dfrr t fu'sT{ qTM qqq i Hc-{ dqr, sS 66-i t
(1) sHrq6Fi (21 {*ms,*
(3) qhqsre (4) IFfim r

3s. ftqffi6 it t {d' sRr 6r rsr6{rr 6h-grt i
(l) trFT (21 .rfrr

(3) {rq (4) 3li{Tqlq I

31. 'gFITft'+r vfi sfu fu+( d'n

(t) {sr + 3flfr l2l Efr * qrfr

(3) {fl*3]ft (4) 1e*frt
32. {Ers + ris iti t

(r) o (s:) (2) g (nlrl

(3) z (srd') (4) s (+s) I

33. ks t,trq 6r c"{ff c( riwr qrqm slqiEr"m +rfi d-dr t q {str c( qqn *dt t,
{6t
(r) srqdElq'v,lrq pl E-d{rtT{

(3) fuwv (4) oft'ncq'scm r

3a. ftqffia tt+ fun vs ttscs,t ryfi qET gar t z

(1) rlrrF l2l srsyr

(3) 3if,rd (4) 3{q-aFT I

NTSE(r)/ 18 - LCT-61 1-B lP.T.O.
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(8)

ss Frqfufu-a it fu-s $q it3c{'t +r ud'T gar t z

(r) .rcr.A Pl 3FIrq

(3) 3qc (4) sfiqE t

so. 's+{T' u< a ryo nea t
(r) r{T 12) fu

(3) c( (4) fu I

sz. Fmldfu-d i t +)a-sr {rE trf,lzl Tt rfi t I
(1) 3r.f, pl ffi
(3) q-sr{ (4) {q-irfi I

sa. trqfufu-t d t sld qrs qtt-$ t 1

(l) Tsi{dtqoisqT I (z) i-stc{m\3{re}oraqr r

(3) wissgqqusfrqr | (41 +orteorkflqX 
'

ss. FTqfufisd itt frfsd'qrs qtq-{r t I

(r) it +qq 6r drs.t t+ tt lqqfr qf 
t

(2t {.t flqr ftd or flm fu-dr toi qd ru t

(3) {e  3rq-"1ega n&rr +t qr 3{rc rfi 3{rs I

(4) clfi+{Tfut t

4s.'er-{t6' or ffiq vEer t z

(1) s{c pl 3l-dt6

(3) Bi€ (4) 3rR I

+r, Frqlmfua il t,no' fl qffi vre rfi t
(r) rq-fr Q) q{-*

(3) frYr (4) qfu+ |

NrsE(l)/ 18 - LCr-611-B
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44.
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(e)

+2. tmfrlsa E'q il'ir6I qqlq-qr+t

(l) T-q{

iTRM(3)

43. 1.sit * 3TsR $1 q qwi qrer m-ronr t
(1) Tgla
(3) F-f,d

44. 'dH-€H'vr-E Tq mr {.fr q*i t
1r1 *lra-oru

tst st{q-mrs

45. 'Tcul-Tcrq' Yrq-gq mr vfr q{ t
1r1 tffi-frFltIR

(3) d?rsR - cM

oo. Frekftra q t {d.+ 6i 1fr t Td YIc t

(2) wcrTT

rftrt4t

\21 Ff,Ea

T{rIq I(4)

(2t Bkq-stq-d

qh-*-cerd t(4)

(2t dqs - qM

(4)

(2t y5+q

(4) qqdqr

LCT.2

47. '+rqn{qs'ffi +m +rT'+ qd ii *tc-{r $rd{T sTr d-m t u

(U 3qqf,

Bci-s(3)

(r) erti-qti o.rtr l2l

(3) s.sdr ft{ eo-{r (4)

48. 'rfld q-qHr' SIqt +r qd t
1ry *iu or+ (2)

1sy ffi-rw++r+ (4)

4e. 'Grefl.iqq tq sqR' ffifu'qr vS q{ t
(1) 3{fti6 qrq qi{-{r l2l

(3) ffi{r efu errqrrr *q rft mrcr t (4)

so. '{0r{ {r 5E frrd rrql'qFFI i q?i6n t
(1) (2\

(3)

sqEil

5C6.

rdqror *'rcr

i-.sdrfu.frqTqcqrfi |

qtud qffi

sE-!E +,{ qfd q,rtt t

3iFr6 EitT srtr

TS-{H SdICI I

3-&{r

EffitUT I
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I

Direction for Question No. r - s : Read the passage and answer the Etestions bosed on ir.

of all the trees of gouthem Asia, the banyan is unique, not only for the
manner of its growth, but for the area of shade it provides from the burning sun.
Its close relationship with man has evolved over the years to make. the banyan a
popular meeting place, a focal point of worship and a source of practical materials
for commerce.

Known as the 'strangler fig, because of its unusual manner of growth, the
banyan is an epiphyte or air plant, that has its birth in the branches of a host
tree and lives on airborne rioistur€ and nukients. Banyan seeds are deposited by
birds, bats or oonkeys in the rich soil collccted in the crevices of host tree
branches.

As the banyan grows, it sends aerial roots down the trunk of the supporting
tree, In .''''9, 

the roots that reach the ground choke the host tree by preventing its
tnrnk from enlarging, ltre two best known species of banyans are : the Indian,
one of. the world's largest tropical trees; and the chinese, a smaller species with
fewer aerial roots.

1. The banyan tree is unique for

( I ) it grows in southem Asia

(21 it is a small tree

(3) its growth is unusual and it gives shade for big area.

(4) its fruit is very big.

2. ltre banyan tree is a focal point of worship for

(l) birds l2l wild animals

(3) naturb (4) Ean.

3. Owing to its unusual manner of growth, the banyirn tree is called

(l) aplaceofworship l2l aplaceofrest

(3) a strangler fig (4) atree ofbeauty.

4

5

7

i
I

I

I
(

t\
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Language Comprehensive Test

SubJect: English

There are 50 questions in this paper. Each question carries 1 mark.
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I on it.

br the

g sun.

ryan a

terials

h

it

(ll )

4. The two species of banyan trees are

(l) the lndian and the Chineie

l2l the shadY and the btg

(3) the aerial and the land

(4) the host ahd the guest'

5. The aerial roots the trunk of the host tree'

(U support l2l grow

(3) choke (4) enlarge'

Choose the correct options to fill in the blanks :

6. A doctor the patients but God cures all

l2l treated

(4) had treated.

l2l plafng

(4) had plaYed.

LCT-2

a host

ted

the

by

(l) treating

(3) treats

7. While

(l) play

(3i played

basketball Sunil was badlY hit'tree

,orting

itsmg
8 slow, this is school area.

(l) Drive

. (3) Drove

9. 'ApPlaud'means

(U remark

(3) consent

10. Find the odd one out'

(1) advance

(3) forward

(21 Promote

(4) farther.

by our school teacher last Year'

l2l is being given

(4) was being given.

tzl

(4)

Is driving

Driven.

12\

(4)

backbite

praise.

11. The new slogan

(U is given

(3) was given

12. The notorious band ....'..."""',""' today'

(l) has been arrested

(3) was been arrested

12\ had been arrested

will have arrested.

NTSE(I)/ 18 - LCT-611-B
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13, Let the picture

( 1) is hung

(3) be hung

(1) if she need his helP

(3) that he might helP her

18. The landlord commanded, "You

(l) cair

(3) may

19. One be punctual.

(21 being hung

(4) been hung.

{21 may he help you

(4) if he might help her.

not enter my house again."

l2l shall

(4) could.

(12 )

I

i

14. Those cars .........,........... by robots years ago.

(U are being built (21 are built

(3) were built (4) had built.

15. The sages said, "You will be winner"

The sages said

( 1) if he would be winner (21 that he would be winner

(3) that he will be winner (4) that they would be winner.

16. Sarla said to me, "l need your help today."

Sarla told me

(l) that she needed my help that day (21 that I needed her help that day

(3) that she needed your help that day (4) that you needed my help now'

17. The policeman said to my mother, "May I help you ?"

The policeman asked mY mother

23.

24

o<

26

'27

28

2t

3

I

I

t

I
b
a

I
I

'l
I

t,

t

20.

21.

,))

(1) can

(3) should

'Ihe synonym of 'benevolent' is

(l) honest

(3) generous

The antonym of 'realistic' is

(l) imaginary

(3) reliable

Gold and silver

(l) is

(3) was

l2l true

(4) authentic.

precious metals.

l2l are

(4) am.

(2t

(4)

(2t

(4)

may

*.

holy

cruel.

?
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23. The wages of sin

(1) is
(3) were

24. A rupee has

(1) the

(3) an

25. Please give me

(1) few

(3) some

26. "How

(1) many

(3) any

'27. Ttre correctlY sPelt word is

(l) comePasion

(3) comePation

28. The correctlY sPelt world is

(1) dePandence

(3) dePendence

29. The PiPer stePPed

(1) on

(3) into

30. The sailors sailed

(1) on

(3) below

3l . The mail train is due

(1) on

(3) bv

32. The tiger is now confined

(l) to

(3) at

more tea

t2\ many

(4) any'

money do you need ?" she asked the boy'

l2l some

(4) much.

( 13 )

death.

\2t

(4)

hundred paise.

(21

(4)

are

am

any

compasslon

compasion.

down

above.

of

in.

didn't you

didn't he.

LCT.2

a

v

t2l
(4)

{21 dePPendance

(4) dependance.

the street.

(21 in
(4) for.

the river.

l2l
(4)

3 p.m.

t2t

t4)

. national Parks.

l2l off

(4) of.

33. He leamt to play physical games' """""""""""" ?

(1)

(3)

did he

doesn't he

msE(r)/ls - LCT-611-B
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?

(2t

(4)

l2t

(4)

but

aren't you

are you.

I

l

1

I

l!
,l
tt

37. Nalini's grandfather died

(1) but

(3) and

38. The police caught the thief

trains. .

(1) which

(3) who

39. 'Ihe king was happy

(1) where

(3) whom

40. She broke the glass

(1) what

(3) who

Reorder the words to make sentences :

it
you can.

(21 but

(4) if.
. she was born.

l2l before

(4) so.

35. Bejust

(l) or

(3) and

36. Catch me

(l) or

(3) and

42.

43

fear not.

looted travellers in the passenger

!

l2l whom

(4) whosc.

people gave him gifts.

l2l when

(4) who.

was very expensrve.

(21 how

(4) that.

4r. is /^tl
@l/ F) 

/
democracy

(c)

ideal

(d)

121

(4)

couple

1d)

(2t

(4t

the outlook
(c)

(2t

(4)

political

(e)

(b) (e) (d) (a) (c)

(a) (d) (e) (c) (b).

f my parents f/("r/
(l) (a) (c) (b) (e) (d)

(3) (d) (b) (e) (a) (c)

Ideal / *rn / 
^, 

u,tt(a) (b) ' (c)

(1) (e) (b) (0 (c) (a) {d)
(3) (b) (d) (a) (9) (0 (c) 

t
The model / *" /

(a) (b) '
(l) (b) (a) (e) (d) (c)

(3) (b) (e) (c) (d) (a)

regarded

0
(c) (al

(e) (d)

/or
' (d)

(d) (a)

(a) (e)

(d) ($ (e) (b)

(0, (c) (a) (b).

/ changed

' (.)

(e) (c) (b)

(c) (b) (d).

NTSEU)/ 18 - LCT-611-B
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44.

For

46

48.

4(.

5

I
34. I ain't interested in video games,

(1) is you

(3) an I

47
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44. The correct suffx that goes with the word'charge'is

(l) - ment Ql - itY

(3) - ish (4) - able'

45. The correct prefx that goes with the word'legal' is

(l) un- Ql in-

(3) it- (4) im-

For Question Nos' 46 and 47 choose the correct meaning of the given phrasal verbs :

t nger

46. 'Call for'

(l) shout l2l

(3) require (4)

47. The company 'tumed down' his application'

(1) rejected Ql

(3) accepted (4)

48. The correct example of homophones is

allow

gle.

put on table

entered.

liar - layer

gold - glad.

philanthroPist

pessimist.

(1) care - cure (2t

(3) excePt - accePt (4)

49. A person who seeks to promote the welfare of others is

(1) atheist

(3) fatalist

50. A poem consisting of fourteen iambic pentameter lines is

(1) lyric (2) . ballad

(4) sonnet.(3) ode

NTSE(r)/18 - LCT-611-B

(21

(4)

_-_-

I
i

I

I

I

I

a



SAT-3 NTSE(I)/^8
^ *1^ ( TO*? TRJT ) 2018
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Roll No.

612 >C I'-OJOUI

Booklei Number «lvi(

SCHOLASTIC APTXTODB TEST

[ For Stndentt of Cliiso X )

Time * ^0 Minulrit Max, Murks : 100

j For BlmO Ciinihriates Time i Hours j

IlfSTRDCTlONS TO CANDIDATES
fftail tlM folio wing iostruoUono ovffUUj
btlbrs f9u opeo tbo i^oomoB booklet.

An8>ver8 orr io be givrn on a Mpanto
aoowor akeot fOIDt ahoot).
Wriir your RoU Number ha ailocted to you in
the mtmission card very clCHily on tbe tevt-
booklet and darken (he approprUie drcles
on Che afteieer abeet ae per msiructioaa
given.

There ore 100 queatione in this leai. AU are
compulaory. The quesUon numbers 1 tp
40 belong to Seiencea. 41 to 60 to
Mathemaocs and 61 to 100 art on Social

Science subjects.
Ptesse fellow the instructions given on the
anewer sheec for marking the ana were,
ir you do not know the answer to any
quesuon. do not waste tune on it and pass
on to the next one. Time percmtting, you cao
come back to the questjona, which you have
left in the firac instance and utietnpt them.
Sinee the bme aLotted for this question
paper is very kmtted, you should moke the
best use of ii by not spending too much time
on any one question.

Bough vork con be done on tba ftvsB
Blank Fsgsa at the back of ths boofcUt
but not on the answer aheet/loose paper.
Kvery correct Answer will be awarded one
mark. There will be no negative marking.
Plssss fsbm the Auwor sbsst |0m
Shsst) only to th« lnvl|llator aftor tho
tsa(.

LO. Hindi veraion of the question paper wiU be
considered as RnaJ in case of any dispute
arising out of variation in translated version.

PLBASB TDIUf OVEB TBS FAOB AND 0TAftT

TOtmVOBE.

1,

3.

3,

4.

5.

6.

7.

8.

9,

304997

mAiki
( N?HT X ̂  % 1^ )

: 100

(  Jfwfirai 9 TTCTU : 2 ot )
sAHrftral %

WN ̂firWT ^ kit WIN ̂

I. SfflN FvTT TS* (81^4 ̂ Na 8IF4 pltC)
«^»l

N'HT fe q*
w  qr to we

3^rf BNT-NTV q? fqq qq qNf qsiHI
^1

IN qftbn ̂  100 wq li qqt "to fi to
I ^ 40 fawq. 4i ̂  60 ei ̂

lOOHIMlfqqi fexH feqai IT WWlfrN ti
f»M«n 3*f7 Nrfjpr % ̂qq "SNT-qwr qr ̂  qd

WR ̂  NRN q>T 040^ ̂ •jtierti qflfqq I
qfq fliq favtfl qrq aq T*Tf q^ ^ ̂  3N qr
qjfl INW q nanq jfrf Jpqq qyq q? Nlrti

tn, Tq qr arqir NiaR 3q^ wr i
adW TN qqq qa % r-iuT<n NNa ajs
i, qflfsq sftiroq iqqrq aftftrt aflr
TOai ajq WT^ q m'ih^i
qqf % NcT ^ ̂  qq qr
ffeWT n «w»ni ^ sTit'Hwai/«n*i HFTH
q? q^i
flwa? NFi ̂ rTf ̂  qa* star feroi vnpri i
TOIfNW aqpqq^ mil
^MUI M^IKI % TO %TO THT-aiH (kfto
xTTo aft?) ̂  INAsh vt ̂Izifq i

10. iwiftd faro E TOn n 3^ 4 Into #
Wff q TO-qq % fW Intot qit fqqrtq# to
^iq'ii I

fTOi aAr HTOT wri anr^vE^lfti^i

2.

3.

4.

5.

6.

7.

8.

9.

aSER20l8
The copynghi of the coniencs of this booklet leftta wUh the BSER and no part of it should be used by
uiybedy in any manner whstsorver without tlw prior penimtfion of the B8ER. The items ars pmpBsrd
oo best eflbn baais. la ease of say dilute the opinion ̂  ihe experts appomied by kS&R wiU be Qa^
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(4. '

I.

(3) aAT-3

ARro ̂Arqrrr itAot
BCROLASTIC APTITUDE TEST

100 317^ ̂  J 3W V ̂1
THERE ARE 100 QUESTIONS IN THIS PAPER.

EACH QUESTION CARRIES ONE HARK.

•W fcl QlWl (3T?fi ̂  | ̂  ^ Pmn "qici

^ ifir ̂  ^ ?

(A) (B) (Q

WT«

t
(D) ^

t

(E)

(M

(3)

WI-

D

/I, BNCT C

(2)

(4)

DNE

AND.

Consider the foUowing five graphs ( note the axes csreftiUy ). oi *ha
following represents motioD at conatant speed ?

IAT'
6 (/i

iQ

Time-

t

(D)

(1)
(3)

r
Time- Time

(E)

TJme'«<H

Donty

A, Hand C

Time-^

(2) DandE

AandD.

FrrSB(I)/18 - SAT-612-C [ P.T.O.



8AT-3 (4)

2. 10 r4>HlUC? ^ 50 lim ^ 100 ms" ̂ ^

ucft ̂  1 ^ ̂ w ftnr ?
-1 500ma'* ̂  j".

V- m-
front a gun

3.

(1) 100 IDS'* (2)

(3) O'Sms'* (4)

A bullet of xnaaa 50 gm is horizontally fired with a velocity 100 ms' ̂
of mass 10 kg. What will be the recoil velocity of the gun ?

(1) 100 ms""* (2) 500 ma"'

O'Sms'^ (4) Zero.

^  ̂ t ^ ̂.3TR ̂  ̂ t ̂  w 100 ^

3ifWm 'R I ̂  ^ ^ gft jprr ̂  frrrr t cfr
sra trr<! ^

(1) 70-7 "Ckr (2> 141-4'fteT

(3) 200*te7 (4} 400 J
A ball is shot vertically upward with a given initial veloci^. It reaches a

maxiiDUin hei^t-of 100 m. If nn a second shot, the initial velocity is doubled
then the ball will a bright of

70-7 m (2) 141.4 m

(3) 200 m Ifif 400 m.

4V^jc^ ̂  ̂ 5®'*n=T if ̂  tisn i^3«rr r ̂  ir^Sin ^51 snat > rff ̂  -qr g/o

(1) (2) W/r2

(3) M/R (4) R/M.

Lei M denotes the mass o.f earth and let R denotes its radius. The ratio g/Q at

Si

5.

eiuth's surface is

(1) R^/M

(3) M/R

(1)

.  (3) *fteT

The unit herts' is same as

(1) second

(3) metre

NT8E(I)/18 - SAT-6I2-C
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(2)

(4|

(4)
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second
-1

metre
-1 •T.j
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(S) 8AT-3

5, tgfH flt*T ̂  3TI^fw 10 kHz W frtnW 3 mm ̂  I 3 'ftCT ^ ̂  ferRT
"?WZT#ft ?

(1) (2)

(3) 10 (4) 0-01 I

A sound wave has a freouencv of 10 kHz and wavelength 3 mm. How much tune

will it take to travel 3 metre ? tO V Sk W ̂
01 sec '''''' ' (2) 1 sec

.  (3) 10 sec (4) 0-01 sec. »

7. 3TOfl^ ̂ 4^ 5RT 3TI9>R Sw % ♦fwit % VRH fit ^

(1) F^ (2) f3ATC%^
(3) {4) C 3#lT ewi % I
The sbsc of image formed bv a concave mirror is same_as the size of object. The
twsition of the obicct will be

~ ■ I■ I I ' 1^

(1) at F |2) between Fand C
at C (4) between Cand infinity.

8- ^ ^ ^ 30 ̂  ̂ I ^ IT^ fro 15 ^ ̂  ̂  TIT ̂  ̂
PTT 37130^

(1) 666 (2) 0-5
(3) 1 (4) 2,
A convex lenn has focal length 30 cm. If an object is placed at a distance of
IS cm from it then the magmfication produced Ityvthe lens is -f «
(1| 6-66 (2) O'S . . k»-rS

. 131 1 2.
9. "ifiTO rTTT ^ wrdtlM^Kil ff t I 31^SJW ̂  ^

f ?ft i^Rit ^ afhriWfii 5t4
(1) K (2) 2K
(3) K/2 (4) K/4.
The electrical reaistivilY nf ° wry is y. If its ler^th and area of crosa*
aection'arc doubled then the new resistivity of the wire will be ^
il^K ' \2) 2K
(3) K/2 14) Ar/4.

NTSB(1)/18 - SAT-612-C [ P.T.O.
.



8At-3 (6

la 2a

la 3a 2a

la 2a

V  (1) ion

v>v" t (3) ^n
"L ^ ̂ What ia the equivalent res^

(2)

(4)

4n

% >^-
•7^

Lven circuit bebwn gointa A and S?

(1)

— m¥f— '

la sa 2a

la 2a '

131 fn ■■
V V(2)'

11.

4 O i. i. Z

.(4, i y
100 ̂  ̂ 4 6 ̂  >4^1^ f I 5 *^0 kWh ̂  ̂ ̂ 50

4 bu

C TO ̂ eiH % 1^ SW ̂  TO t ?

360 ??o (21 90

i20^o (4> 400^0.

4 bulbs rated 100 W each^ operate for 6 hours per day, What is the cost of the

a
%

energy consumed in 30 days at the rate of Rs. 5/kWh ?

Rs- 360 (2) Rs. 90

{3) Rs. 120 (4) Rs, 400.

' 12. TO ̂  ̂ ̂ VRT TO%rT ?l TFt t I A 9 B ̂  ̂15S5N ^
^ t, ̂  TOT

t>

>•'

_^s•

A

a

(i»

(2)

(31

(4)

gro fetifiTfi TO fW

iTO ^ kHJ

gro ft?TT ̂  faiftSrcT ?Hk

NTSEfl)/18 - SAT-^ 12-C



(7) aAT-d

An electric current is passed through a straight wire. Magnetic compasses are

placed at the points A and fi. True statement is

A*

(1| their needles will not deflect

(2) onfy one of the needles will deflect

(3) both the needles will deflect in the same direction

the needles will deflect in the opposite direction.

13, •fW ^ ^ ̂ i TO ̂  ̂jlfn k ^

X ̂  ^ 3?^ y rf^ ^ ?

(1)

Y
K

X

j  ̂

(2)

(3) (4)

^ /

X

Which diagram below il^atrates the path of a light rav as it travela from a ghren

point X an air tq^ano^er ̂ ve^pomt ?

ID

(3)

glass 'K

air^
X

glass

air

1

X

V

(2)

glass

a^r

X

(4)

glass f

X

NTSEIll/lS-SAT-eia-C I P.T.O.
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J0i awtferfrsFT atfqfenrr ̂  hci ̂  t
HCM aq) ♦ HjO CP ( aq) •*- H3O*

(1) H30^ (2)

(3) cr (4) HCI.

Conjugate baae of HCI in the fojlowing reaction is

H,0

16.

HCi ( aq) + H.O a* (aq) ♦ H,0
il

(1) H3O (2) H,0

15.

^ ̂ ("1
3fte TRTTqfNv ̂  ̂

HCL

(M

(3)

CaSO

CaSO^.V^iHjO
(2)

(4)

CaSO^.SHjO

CaSO^.HjjO.

The chemical formula of Plaster of Paris is

CaS0^.2Hj0

CaSO^.HjO.

fl) CaSO^ (2)

J3i CftSO^.ViH^O (4)

arvffrri^ 3TfqfiFqi A ^ m i ?

CHCU ♦- O. 2COCI2 + 2HCI

(2) *i"Uc*44)

.3 ^ ^2

(IJ tRRq^

(3) ^-3?dTV (4) IrdrV I
Which type of catalyst is ethanol in the flowing reaction 7
CHCI3 H Oj ,2cocia +2HC1

|2|11) Positive catalyst

(3) BiO'Catalysi

17. awlMwij^^qvigi
(1) pflftm
(3) iTlfeim

Metalloid among the foUowing Ja

(1) lithium (2)

|3) sodium

(2)

(4)

Negative catalyst

Autocatalyst.

sulphur

silicon.

NTSE(I)/I8-SAT-612-C
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CH3 s.
18. CH ^lUPAcrm t

3

(1) 1. 1-51^^^-2-X^ (2) 2-^feH-l-TiHW

(3) 2,2-Tr?#iFr (4) 2-^ftrH ̂ '2-P^ 1

The lUPAC name of *8

(1) 1, l-diiiicihyl-2-ctlicne (2[x^2-mcthyM-propene

(3) 2,2'dimeihyl etheoe (4) 2-methyl prop-2-«De

^

0) (2) ^

(3) tMN (4) HWHH-6,6.

The potymer fonned by condensation of adipjc add and hcamcthylene dkining ia

0) isoprene (2) rayon

(3) terylene (4) nylon-6,6,

20. ?wr 3**ilPiv*i ^ fewi ̂  xsfrrt ftiRi ♦

(1) Xropft 3TO5R (2) d>*4mdH

(3) duWy*! (4) I

The method for separation of mixture of common salt and ammonium chloride is

(I) fractional distillation sublimation

(3] chromatogmphy (4) crystallisation.

21. 14 gra Nj anj-if 3?T53ff ̂  Wgqt

ID 6'022 X 10" (2) 3'On x 10^'

(3) 1-51 X lo" (4) 6-022 x lo".

Number of molecules present in 14 gm of molecule is

(1) 6-022x10" 3-on X10"

(3) 1-51 X 10^^ (4) 6-022 x lo".

MTSE(l)/18-SAT-6!2-C [P.T.O.
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BAT-3 (10)

22. 2,8,6 if ?

(!) (2) 3fN#3F

(3) WPF^RT (4) I

Which of the following elements has an electronic configuration 2,8,6 ?

(W- ' Sulphur (2) O^^gen
tf* y

(3) Phosphoms (4) Chlorine.

^3. ^ ̂ rTr^ "^Nt^Riffr UCRlW 'SFTtTT i ?

(1) Na (2) Mg

(3) Pe (4) 2n.

Which of the foDowing elements shows variable valency ?

(1) Na (2) Mg

^ Fe (4) Zn.
24. ^ ̂ ̂

(1| Al^l 003)3 (2) A13C03

(3) AljHCOj (4) AlCOj.

Formula of aluminium carbonate is

^Al2( 003)3 .f2t AljCOj

(3) AI2HCO3 (4) AICO3.

25. dJ3?FT-112

(1) C2F2CI4 (2) cafjCij

(3) CFCI3 (4) CCI3P.

Formula of Freoo-112 is

C2F2CI, (2) CFjQj

(3) CFCI3 (4) CCI3F.

NTSE(I)/18 - SAT-612-C a A
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26. X ^ ^ ̂ ^ JlrtHi* giHT WTT ̂  I
X ̂

(1) *T*ftnR (2)

(3) (4) ^3Tl5T I

llze element X reacting with chkmne fonos a water soluble compound having

high melting point. Element X is

(1) magnesium - (2) argon

(3) carbon (4) neon.

27. HiR^H % Wsit IWtn^i ̂  oki^ ^ttfTT ̂  ?

(1) Tfffm (2)

(3) (4) I

Which tissue Is found in fitvous covering of co»nut ?

(1) Parenchyma (2)

Scleienchyma (4)

28. ^ ^ ^

(I) 12}

(3) (4)

>hjcleus of the cell was discovered by

(1) Robert Hooke |2|

Robert Brown (4)

29. ^ t ?

11) (2)

(3) (4) i

Which of the following is a |rfant hormone 7

(1) Insulin (2) Thynwinc

Cytokinin (4) Oestrogen.

CoUenchyma

Meristematic tissue.

I

l^uwenboek

Vifcbow.

NT8EII)/18-SAT-612.C 1 PT.O.
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30. ^ ̂ 3l1v«R WT t

(1) (a) Fn^^H

(3) (4) I

Plant group more oeasitxve to the levels of sulphur dioxide in air is

^ Thallophyta lichen

(3) Pteridophyta (4) Gymnosperro.

31. tWT chn»jli)_ qiyjt % f

(1) (2)

(3) (4) ^Aftiwa, WI^O'll<<l I

Examples of perennial^ evergreen and woody plants are

(1) Funaria, Marchantia (2) Marsilea. Horse-tail

Cycas, Pinus (4) Ulothhx, Spirogyra.

32. ^ ^

(l| (2) ROTtdto

(3) (4) 'iie^ I

Tuigidity of cell is maintained by

Vftcuole (2) Lyeoaome

(3} Plaslid (4) Golgi body.

33. 5TO7T ^ 3TR7S^ ^ t

(1) (2)

{3| (4J ¥r?3TPR?l?S I

The substance not essential for photosynthesis is

(1) sunlight (2) chlorophyD

nitrogen (4) carbon dioxide.

NTSE(I}/18 - SAT-612-C
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34. tffiran 311^ 31^

(1) {wwPh*

(3) ^-TRirafNT

(13J

..... I

(2)

(4) 4^-^issito I

8AT-3

The nature of nerve impulse is

(1) chemical (2|

electrochemical (4)

35. aortal 9»T ^

(l| (2)

(3) 4MMMi (4)

The example of uncotelic animals is

UK fishes (2>

(3) amphibians (4)

magnetic

electrom^netic.

^fFrerit I

reptiles

mammals.

M'im 3T^W t

(1) 3:1 (2) 9:3:3:1

(3) 1 : 1 14) 1: a r 1.

According to Mendel in monohybrid cross the geno^pic ratio of generation is

Rr)V
(I) (21

(4)

9:3:3: 1

1:2: 1.

3 : I

(3} 1:1

37. ^ t

(1) TIffW

(3)' ^3Tf ̂

Example of connective tissue is

(1) cartilage skeletal muscles

(3j skin of animals {4) nerve cells.

NTSE(I)/18-SAT-612.C
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8AT-3 ( H f

38. 3ii ̂  ̂ W 3m«<u| t

(I) WTW4 (2)

(3) (4) I

The example of egg laying mammal is

(2) Kangaroo

44r^ Echidna

[1) Bat

(3) Pigeon

ftT t

(1) ^ (21

(3) (4) I

Non*communicab)e disease is

jyT Cancer (2) AIDS

(3) Amoebiasis (4) . Jaundice.

40. ?

(1} P)

(3) (4) I

Animals of tdiich phylum are pseudocoelomate ?

(1) Porifera Wa^Jelno^^es

(3) Aschelminthes (4) MoUusca.

41, 5-2-2^ = a yr, ?fr .yjTF ^ wytirr'srafe afWr b Tten?
3 - v3

f ?

(1) 5 (2) 8

<3J 2 (4) 16.

3-4-2^
If a * J3b, then the vahie of JaTb where a and b are rational

numbers is

IM 5

2

NTSBO)/18 - SAT-612.C
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(2)

(4)

8

16.

|^s.v^>(3*-rsj
V yi* 6ji+6

t+jr,

^+5J1
6

'J

•V:4
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42. ^ p % fiR 'Th! % 2*®+p* + 8 = OWF

p(jir^ + * 1+ » 0^ ̂  "RH ̂  ?

(I) fc-1. p-4 (2J k-2. p-8

(3) fc-4, p-6 (4) fc-2, p«4.

For wiiich oogitivc values of fc and equationa—

p(jic^+X)+fc • 0 havecguaJjoota? fc^-Cls6 2^

,., k..,p.4 ^.-2, p.8

(3) k-4, p-8 (4) k-2. p-4.

43. 'Jfta, p IWIT t fe (a♦ 1) (P + ll-ettff

(1) 5 (2) -1

(3) -3 .(4) -5.

If o, 8 are zeros of pftiynAmifli p (x «»■ IL- K such that (ct + ,1) ( P .♦ 1) • 6, ^

then vahie of k is X''- ~

(1) 5 121 -1 ^.<P 4-<<-V^+! ''=<
(3) -3 JfiT -5.

^ 6i8_5io^5^W33:^ ^^4B.iS
(1) 5 (2) 8

(3) 1 (4) 9.

o,s

0 •

Which is unit digit of 6*® —5'® ? |}
fTt

U) 5 12) 8

^ 1 W 9. 'f'
NTSE(I)/18-SAT-612-C [P.T.O.
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45. 3Trf>ffT ̂  <?rx fffTOT^S- pst I ̂  Z TQR ̂  40^ ̂  Z RPS ' 20^ t rft *1RT

*TFr#TT

P

(I) 80®

(3) IS®

(2) 25®

(4) 35®.

In the following figure QTXPR and QS ' PS. U ̂TQR - 40® and ̂ RPS' 20®

then value of x ia

p

•lO

s<

55
Ufi Uo*->TTt \5

uo*>5

>v«
2! R

(1) 80®

15®

(2) 25®

(4) 35®.

46. wm 4^ 20. 19^. 18-^. m vm >

(1) 18'^ (2) 15^

(3) 28* (4) 27* <

Which term ofA.P. 20, 19^. 18^ is first negative tern ?

(2)(11 18th ISth
5
'1

^3K'28th

NTSE(I)/18 - 8AT-612-C
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17} 8AT-3

47. 12 hWi *IlnK % Iq^On 311t fi«pi ̂  *fNT^ % ftfST % "^SRR 4?hT

45W f I if? 3TtT ̂  'TNr % 'IR ̂  16 nj ̂  ^ 1^ ̂  'tNr

(1} 24 lite?

(3) 12 ®ite?

(2) 9 ̂fte?

(4) 18 'te? I

The angles of elevation of the top of a 12 m high tower from two points in

opposite directions with it are complementaiy. If distance of one point from its

base is 16 m, then distance of second point from tower's base is

^ 9m

►

(1) 24 m

(3) 12 m W  18 ®'
CO

cosB

• ^*4 P

n lbt>

fk^ no

li£ t£ih9-
«fO

11) m-

(3)

(2) n-

OC<>rT f.

(4) . m + n.

If m a £^-4 and n » then (m^ + ) cos^ B is equal to
cos B sm B ^ '

ID m2 J3K n® C.>>V

(3) + n' (4) m + rt

49. 'jft' ̂  yWT 3ig;qis 4 ; 9 fit ̂  9it Sl^qift ^

Cfc^ ^

(D 2:3

(3) 81 : 16

(2} 3:2

|4) 16:81

NTSE(I) /18 - SAT-612-C [ P.T.O.
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If ratio of hei^ta of two mrnnar triai^les is 4 : 9, then ratio between their areas
a

is

(1) 2:3 (2) 3:2

(3) 81:16 16:81.

10 M fiT if, ̂  AS - AC - 12 cm fit 5it^ ac ̂

?

(1) 12^

(3) 19-2 M

(2) 9-6 M

14) 7-2 I

t.

n

In a circle of 10 cm radius, two chords A3 " AC'^ 12 cm, then the length of the

chord BC is

(1) 12 cm \^rr::^

(3) 19-2 cm 7-2 cm.

0

^ 10 sumw 1201^, 5l^^3Tt^Tnwqsir .-'r

^ ?

(I) U3

13) 114

/
I fl

>

(2) 115

(4) 116.

lioe

«• 0

ir mean of ten consecutive odd numbers is |20, then the of first five odd
i.

numbers among tbein_u^ 7 -^1 1

113

ll'*

NT8E(I)/18 - SAT-612-C
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52. ^ »i4 anfia ̂  wpSkt ^ ̂sprpt siajid, ^ abcd ̂  ̂  lo M ̂

'v..

(1)

(3) fiW q,^ ̂

10 M

(2) ^ ?9;ii

(4) 1^ vi 1^ I

Find the area of shaded region, where side of square ABCD is 10 cm and two

arcs drawn from two opposite vertices of the square-
Dm L2 >C

*  •

l»Jt
59-

4

10 cm

200

7

600

sq. unit

sq. unit

CJ^ i^sq-uniunit

9
(i|

(3) ,

53. 14 g# fes* arttFR % fhpira % ̂  ̂riratR ^ sira 4 fWr

(4) l^sq. unit.

•taUCTW

^ ̂ li

>*V ' iy

-7 *

%s%

^6

(1) 3^
3

2^# l?HpTp!RT®l«nfelTW^ ?

(2)

(3) 112^^ (4)

KIBEffl/18 - SAT-612-C
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SAT^

^i3
the capacity of a glass which is in the aB<^Find the capacity of a glass which is in the sBlpeof frustum of height 14 cm and

diameters of both cifgyj^r ef^ds arc 4 cm and 2 cm.

^  (2) /j

21 y^-(3) 112 cm^ ,4) ^cm2

2:3% 31^ 4 3^'. fanir^ff ̂ fff*cTOj/%t?R^ '

(1) x-4, y'7 (2) x-5, j-9

13) x-7,y9 (4) x'7,y8.

f23 33^If a point P [^^,-g-j, divides line.Agjoining twn points A ( 3, 5 ) and B{x, y]

^  S
ihtematly in calio of 2 : 3, then the values of x and y will C 1 V

(1) X-4.V-7 12] X-5.V-9

*-7, tf-9 (4) x-7, v-8. ^

55. ^ *r ^?pr fwiT w ^ S3 yf^ wifit^idr

?Wt ?
/  ̂

(1) 7 (21 f
(3) -55- i4\ 52

366 365*

^ ® leap year is selected randomly, then what ia the probability of having

53 Mondays in this year ?

m i ja^ 2

(3} ^ fAi 52
' ' .>366 365-

* 7 r-

NTSE(1)/18 - SAT-612-C
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56. ^ ^ 60 ̂  3l1*rai fit 3^r ̂  'jftfv ̂  f=WTt

(11

(3)

14 ic cm

35 « cm

(2)

W

28 n cm

42 n cm.

If Che length of circuniference of a drcte is 60_cm more than its diameter, then

leM^ of its circumference is

(?> '-■14xcm.i> 28* cm

[  35 n cm (4) 42 it cm. ,

57, W ̂  ABC ^ADMBB ^ ^ ̂  G ̂  ufrl-^ftd
t I ̂  iiBDG ̂  1 ̂  ̂  ̂ cTt 3TT?»fH DCEG ̂  ?

A

E
Q

(1) a'^M
(3) 4 ̂  ̂

(2) 3^^
(4) 1 ®Pt ^ I

In given A ABC. AD and fig are medians of triangle which mtersect each other at

point G. If area of ASiXJ is 1 cm^, then what is the area of DCBG?
A'

(11 2 cm^
(3) 4 cm^

-5
E \ «W»)

G

c

3 cm*(2)

(4) 1 cm^.

rrr8£(T)/ is - sat-612-c P.T.O.
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58. 60^30' ?

_c

(1) V <21 ÎI
c

(3) 23^ 121 c
* ' 180 540*

What ia the radian value of angle 60^ 30' ?

^ f '2,
(3) 121^1 121 C
' ̂ 180 S40* • \i

59. i?3> % aim ̂  25% ^ ̂ IT 3?ra;r nfiwH wn ?i

iiii'ii ?

(1) 25% (2) 56-25%

(3) 43-75% (4) 62-5%.

The diameter of a sphere ia decreaaed by 25%. By what per cent does its curved

surface area decrease ?

5o+^
fl) 25% 56-25% lo#

(3) 43-75% (4) 62-5%. ^ '
60. u-s/t® -*■ [y-zf + («-*)'

ID iy-z)^ (*-*)'
3(^-y) (y-s) {z-x)

(3) -t-.y® ■»• - 3*yz ^
|4) X® -I- y^ -t- z® - 2x^y - 2y®z- 2«^*.

Viiiaeof(x-y)^ -t- (y-z)® -•- (z-xj^is

(1) (*-y)® (y-2j® («-x)'
(2) 3(x-y) |y-z) (*-x)

(3) x'-l-y®-t-z'-3xyx ,•

(4) x^ -t- y® -t z® - 2x®y- 2y®z- 2z®x. til.! .
"V-

NTSE|I|/18 - SAT-612-C
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61. ^ ^ ^ 5^ ̂  ̂  wr :

j^-t

(3i) i<<ic ^ 3lftr^?R

{^) W ̂TfR 5^

{^) iPRT ̂  ̂ ?rw

^-ir

(i) 20^. 1789

(ii) 4 3TTn?T, 1789

(iii) 14 ̂?n4, 1789

(iv) 5^, 1789

9 W

w I is iii •  iv

(2) iv iii ii * i

(3) iv i ii iii

(4) i iv iii ii.

Match L4»t4 with L(at>i7 correctly and chooae the correct code from the

following:

Xiat-J

(A) Meeting of the Estates General

(B) Bastille was destroyed on

(C) Abolishment of feudal system in Pran^

P) Swore of Tennis Court

Code:

Litt-a

(i| 20*^^ June. 1789

(ii) 4^ August. 1789

(ill) 14^'July. 1789

(tv) May. 1789.

A B C D

W i a ui iv

(2r iv iii u i

13) iv 1 u m

(4) i iv iii ii.

NTSB(I)/18 - SAT-6J2-C t P.T.O.
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62. wpt ferr t, t r

(I) ^r^Hivii 12)

(3) (4) <I^WR 1

The state of India where the JallianwaUa Bagh is situated, is

(1) Haiyana (2)

^ Punjab, (4)

63. 1871 io ^ OTT?" 9r

(1) (2)

(3) (4)

The German King in 1871 was

(1) William I

(3) Frederik William IV

Uctar Pradesh

Rajasthan.

grik

lanln 1

Nepoleon III

(4) Bmmanuel U.

64. ^ *T7ik m 3TTfTO>R fem

(1) ^ % (2)

(3) {4)

Who discovered the spinning jenny ?

John Kc (2)

(3) Raphael Samuel (4|

65. ^'Jin lq»<Mt ̂  ̂ sn

ttoio

I

T.E. Nicholson

J^es Hargreaves.

(1) 1903 (2) 1905

(3) 1907 (4) 1909.

The year of the Partition of Bengal was

(1| 1903 j;2>f 1905

(3) 1907 (4) 1909.

NTSE(I)/18 - SAT-612-C
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66. PiMlriRao ^ ^ fi|3 Tl^ ̂  W ?

(1) (2) ^

(3) ^ (4) I

Which one of the following countrieB was not among the Allied Powers ?

England (2) France

(3) Russia Oermany.

-iiH^ ^ MCM9M ^3TT ?

(1) 1750 (2) 1780

(3) 1850 (4) 1880.

When was the publication of Bengal Gazette initiated ?

(1) 1750 (2) 1780

18.50 (4) 1880.

68. *77 ̂ 7H $ :

(A) T^IrtfT *fhft % 78 e>i4^TiWf % ^ I

(B) 20 1930 ̂  J

^ ̂Rlt "3TTt ̂  ^ •

(1) ion lA) (2)' (B)

(3) (A) (B) ̂  ITift (4} ^ ̂  I

Consider the following points :

(A) Mahatma Qandhi started Salt March with his 78 confidential volxinteera.

(B) Mahatma Gandhi violated the Salt law atpandi on April 20^.

Choose the correct answer from the codes given below :

(I) only (A) (2) only (B)

both (A) and (B) (4) none of theae.

NTSE{I)/18 - SAT-612-C 1 P.T.O^
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69. »^Kn ̂  if; "^TT Vnfel ̂Sfl ?

(1) (2) vr-fl^d ̂  ̂

|3) ^ ̂ (4) ft<fte 31TO ^ I

After which war the British rtUe was founded in India ?

(1) Battle of Sabrao (2) Battle of Panipat

Battle of Plasscy (4} Second Anglo Mysore war.

70. ^Nf % WSJ 3Tlfira> ^ ̂3nH

(1) 1921 (2) 1929

(3) 1935 (4) 1939.

• When was the Great Economic Depression between the two World Wars held ?

(1] 1921

(3) 1935

71. 5|R^ 13 "4^ TUT iff ?

(1} TeftlRW ftlk

(3) IglfH WWf

Who composed Ananda Math ?

(1) Rabindranath Tagore

(3) Mahatma Gandhi

72. 'hut'9T1T W7TT I:

(I) Tiirr i

(3) 3tR % fqfim 4

^adar' is found in

(1) the northern mountain region

(2) Thar desert

the vast northern plain

(4) the peninstilar plateau.

NTSE(I) /18 - SAT-6 i2-C
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73, fimsNk tBR ̂  gn T5TIIT Wi I

(I) (2) =nft?g>

(3) (4) fSjjt I

the rising plftce of the Isigest river of peninsular plateau ia

(1) Betul Nasik

(3) Jabalpur (4) Cuddalore.

(1) 100^150^ (2) 150^20oM

(3) 200 ̂  250 ̂  j4) 250 ̂  ̂ I

Use <)uant3^ of rainfall received on the Western Ghats by south^y/est nionaoon is

2X1|-''''T50 • 150 cm (2) 150-200 cm

(3) 200 ■ 250 cm i4t^ above 2S0 cm.

75. ?

(1) ^ (2| ^

(3) (4) I

In which Indian forest arc silver. Br and pine trees found ?

I

(l) Tropical deciduous forest (2) Montane forest

f3) Mangrove forest (4) Tropical evergreen rain forest.

NTSEII)/18 - aAT-6l2-C I P'T'-O.
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^-/ ^'O

(a) 3TRt^ (i) 8° 4'30

{^) (iil 37® 6'30

(n) (iii) 68® 7'^O .

(ir) (iv) 97®25'^o I

fr:

dr W W r

U) ii iii iv i

(2) i ii iv iii

(3) ii I iv iii

(41 iii ii i iv.

Match Ust • I and List - n and choose the correct code from the following

ttot-I Listen

(A) Northern end . (i) 8® 4' N

(B) Southern end (i^ 37^ 6^ N

(C) Eastern end (iii) 68* 7' £

(D) Western end (iv) 97* 25' E.

Code:

A

(1) n-

(2) i

>af ^
(4) iii

NTSE(I)/18 - SAT-612-C
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^  ̂ Tm m 7
(1) (2) TTSTWR

(3) (4) I

Which of the following is the major augarcanc producing state ?

(I) Uttar Pradesh (2) Rajasthan <_

(3) West Bengal (4) Madhya Pradesh,

78. ?

(1) (2|

(3) ^ (4) I

Important deposits ofwhich mineral arc found in Itoraput if^disha ?

Iron ore (2| Coal

(3) Copper (4} Bauxite.

79. ^Krtly ̂  ̂ ftH finr ̂  ̂ ^ ?

(1) 1853 <2) 1854

(31 1855 (4) 1856.

In Tudiich yes? waathe first aueoesafiil cotton textile miU established in India ?

1853 (2) 1854

(3J 1855 (4) 1856.

.  80. *nTfT^ 2000^"?!^^^ t

(t|

(2) *EnM ̂  feWTT

(3) ^ ̂ 30 ̂  ̂  4rr=iT

(4) "AsFIH % sraRT ̂ ^^n\ i

mSE(l) / 18 - SAT-612-C I
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Indian population policy 2000 not includes

free education

(2) free from diseases ' '

(3) reducing infant mortality rate_be^y/ 30 «

(4) increase the employment opportunities. . ; t

81. qfer ̂  ^ t . . . •

(I)

(2J

(3) — —

(4J itWWI — dlwSd—*1^ — I

Gas transportation pipeline which passes through Kola in R^aathan is

(1) Ouwahati — Barauni — AUaha&ad — Kanpur
a

Barauni — Rajbandh — Haldia
.  • •

♦ * • s

(3) Hazira — Vyaipur — Jagdishpur

(4) Salaya — Viramgam — Mathura — Delhi.

82. 3ftT ^ *!!TfT % ^ 'Itcft t ?

(1) (2) 7PR9R

(3) -511^ 3ttT (4)
•  i"!'

In which state of India ia red and yellow soil found ? ^ :. . >.i •
V «

(I) Chhattisgarh (2| Rajaathan • t C

(3) Jammu and Kashmir (4) None of these.

• V

NTSBII) /18 - SAT-612-C
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83. ?

(1) TP«T^

(2) "?WT

(3) ^ TP?i ̂ nrr ̂  ̂ ̂  ̂

(4) iTRffrl l<fi4 «te I

In which House is the finance bill presented first ? * . .
-  C .

(1) Rajya Sabha

Lok Sabha

(3) Both Lok Sabha and Rajya Sabha anywhere

[4) Reserve Bank of India.

84. 5 TprAfkep ^ f^^TT Wrf t ?

(Ij ftrFpft?! (2) ^ ^

(3) (4) M4lPii*l4» I

Who among the foQowii^ is a part of the political executive ?

Disjrict Collector

(2) Secretary of the Ministry of Home Affairs

(3) Home Minister

^ Director General of Police.

^T45fft ̂  ?

(J) ^ra^smdfgw (2) W!f1«T^1d

(3) (4) ^ I

Which of the following institaUone ̂ makc changes to an existing law of our
country? *

(I) Supreme Court of India (2} International Court of Justice

(3) Prime Mimster Parliament.

NTSB(I)/18 - SAT-612-C I P-T'-O.
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86. wk ^ aiftwR T^tf^ 3iftran^ sf!l M ̂

aimil- ?
I

(1) ^w^aifwR

(2) ^flfevT ̂  aifc^

(3) ?t4f& ̂  ^

(4) "3^ ftWF Hifii 3>r 9lfe9>R I

Which one of the following is considered as a Cundamental righLaccording to the

Conatitution of India ?

(1) Right to work

(2) Right to adequate livelihood

-or^ Right to protect one's culture

(4) Right to gel highy education.

87 wTwh pftFtjT % ^ yARdd :

(A) ijftm FRT% 3WV

(B) ^o3?Ro 3ltit3VT (ii) ^4cl %

(CJ TT^ THK (iii)

(D) (iv)

(1) (Af - iv. (B) - ili. (C) - i, (D) • ii * a

(2) (A) - iv. (B). ii. tC). i, (D) - iii
:  ; .'a.

(3J (A)-i.(B).iu.(C)-iv. {Dl^a ■ "'E-
(4) (A1 - iii, (B) - iv. (C) - i. P) • U.

. J {1 4

Cxc

NTSEa)/18-SAT-612.C
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Match the following in reference to constitution making process :

(A) B.N. Rao (i) President of the Constituent Assembly

(B1 B.R. Ambcdkar (ii) Member of the Drafting Committee

(Q Rajendra Prasad (iiii Chairman of the Drafting Commltlee

ID)- T.T. Krishnamachari (iv) Legal Advisor.

(A) - iv. (B) - ill. (CL, i. (D). a

(2) (A). iv. (B) - a, (C) ̂ i.(Dhia

(3) (A). i. (B) -^iii. (C) - iv. ID)' ii

(4) |A) - iii. (B) . iv, (C) . i> ID) - a.

^ 'mm mm :
(A) ^ 5RT ̂  ^

(Bf % iAHM «**i\qn! 5TT1 ^

(Cj f^-WTT

(D) "RfTWT % fetr T|rRT=T ̂  I

(1) A,B,C (2} A. B

(3) B. C (4} C, D.

Choose the correct statement dgaerit^^fig th^ word 'eo^e of couduet':

(A)- A set of norms and guidelines to be followed by Political Parties
-- "~-V

A set_ofnprms and guidelines to be followed by candidates in Election

(C) Guidelines for Election Commissran

4J>f Compulsoiy voting for voters.

(1) A.B.C A.B

(3) B, C 14) 0, D;

fipTJ ̂  t ?

(1) 29+ 1 (2) 30+ 1

13] 28+1 (4) 31 + 1.

Accordin^to_tiie Constitution of India, how many maxiroum no. ofjudges can be

appointM in Supreme Court ?

(II 29+1 ,.^2r 30+1

^ 28+1 (41 31 + 1.
MTSE(I)/18-SAT-612-C [ P.T.O.
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90.

(1) 5 (2) 3

(31 i ("1 i

How many members will be nominated m Legislative Council ?

Jif 5 (2), I

(31 i (4) i

(1) 74^ (2) 7S«lf

(3) 52^ (4) 61^1

By which Article of the Constitution of India is the Prime Minister appointed 7

(1) 74th (2) 75th

(3) 32nd (4) 61st.

92. WT % w t, ̂ t

(1) efl^ ̂

(2) 7r«r ih 17^ 77?^

(3) ^NT ̂  tW % Ptc^lFqa

(4) To, ^ Tl^ ^37? % I

The Vice-President of India is elected by
$

(1) elected members of Lok Sabha

(2) all members of Hajya Sabha
♦

elected members of Lok Sabha & Rajya Sabha

ail members of Lok Sabha, Rajya Sabha and all state legialative assemblies.

rrrsE(i)/ is - sat-^i2-c
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(3?)

(9)

(B) miiA ̂

{^) .jiqliiflc aifesnr

H^-ir

(i)

(ii)

(iii)

(xv) W \

f3:

9 •W W

(!) iii ii 1 iv

(2) U iii iv i

P) ii IV i ni

(4) iv iii ii i.

Match Ust -1 and List - S and choose the correct code from the ̂ ven codes:

Ust^I

(A) Urdoniist

(B) State Ust

(C) Concurrent Ust

(D) Residuaiy powers

Ltsc-jor

(i) Computer Software

(ii) Commupicatxons

(iii) Police

(iv) Forests. t.

Gods:

A B C D

. w iii. ii i iv

1  • iii iv i

•

P) ii iv i in

(4) iv iii U i

NTSE(I)/18 - SAT-6I2-C RT.O.
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94. ^ 3<lFm ̂

(I) 'W (2)

(3) STPraig (4) 'Wk I

The example of ca]ritai is

(I) Water (2) Forest

(3) Climate

95. ^ VRFT i

(Ij ^

(3)

The rabi crop is

(1) Jowar

(3) Maize

96. Hi^n ^ -rte ^*cii ^

(1) VRffkfrfT**F (2)
(3) (4)

J4f Mac^

WF

e.

(2)

(4) ^ I

(2) Bajra (Millet)

14K Wheat.

In India the currency tiote is issued by

ikj Reserve Bank of India (2)

(3) NABARD (4)

97. ^ ̂  Jr

(I) (2)

(3) (4)

The source ofinstitutional credit is

(1) Money lender (2)

(3) Bank (4)

NTSE(1)/I8-SAT-612-C
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State Bank of India

Bank of India.

I

Landlord

Relatives.
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98. ai^arawr ̂  gHhra? ̂  ̂ t

(1) fft (2) 'TR^

(3) (4) t

The example of tertiaiy sector is

(1) Agriculture

(2) Fisheriee

(3) ma^g sugar from sugarcane

\fff Banking services.

99. jra ^ ariror" ariWraTaiPift^'im

(1) 3?^, 2005 (2) 2006

(3) 2007 (4) 2008.

TTw Oovemment oflndia enacted the law of "Rigjit to Infimnation* Act in

SAT*d

(1) CkXober, 2005

(3) December, 2007

100. 'TOT ̂  -SfiMFf) t

(1) ifjtfTO

(3) Z1ZT iTtnt

(2) November, 2006

(4) January, 2008.

(2)

(4) yrt ̂  ?t4 I

The Multinational Company of Ti^dip is

(1) Inibsys (2) Asian Paints

(3J Tata Motors AU of these.

NTSE(i)/18-SAT-612-C I P.T.O.
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